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LEARNING

e | can find the measures of angles “OUT” of a circle

TARGETS

A tangent and a secant

~ N
mel = %(mHD-mBD)

Two tangents

If two segments intersect in the exterior of a

circle, then the measure of the angle formed
is half of ne ditécvence

of the measures of its intercepted arcs. s = ﬁ(m E/H\G _MEG)
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c) A polar orbiting satellite is about 850 kilometers above Earth. About 69.2 arc degrees of the planet

are visible to a camera in the satellite. What is mzP?
i 360-69.0

mep= 4 (200.6-64.2)

mep: 5 (aaio)
69.2°

P mep= [10.¢°



